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Note : The candidate will be required to attempt five

questions in all at least one question from each unit.

‘Question No. 1 is compulsory.
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| What is Bmm.a by parity bit ? i 1
U.om_do acw:Q ?Qﬁﬂ.@. . _ _ 1
State De ?onmms.m theorem. 2
What is encoders and decoders ? 4
Uombm sequential QH&_G 8& latches. w2
Difference between latches and thptdop, v 2

What is the difference ‘co?«oo_:_ PLA and
PAL? ‘ . 2
What is the asynchronous sequential logic? 2
Explain rwSBEm codes with oxmB.E_o. L

Define binary codes, cyclic codes, error detecting

and error correcting codes. . 2
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~ Unit-I

Design a simple logic circuit such that the output

is 1 when the Est.nstQm ABC.IDis maomﬁow :

than 0110. . L8

Tn a4-input NAND gate, two inputs are to be used.

What are the options available for the unused
inputs and which one is the best and why ? 7i
What is prime ch:omEm ? and state distributive

law. : : 5

Perform the mo:oémsm owowmaosm on the given

binary numbers a specified :

(i) .110.01 + 1.011 . il
(ii) Convert 11101.01 to decimal 1
(iii) 11100.101-101.01 using 2's compliment.

, . : H
(iv) State whether the mo=o§wm statement m_m true

or false :

"All decimal fractions have exact binary

o@:?m_n.am.. and justify your answer. 2
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Solve the following expression by mapping: .
F=2m(0,2,3,6,7,8,9, 10, 13).

Write the steps involved in solving this
Quine-McClusky method. , 0

Perform the operation (12,, -35 ) using 2's

compliment method. A 2

Obtain the minimal SOP expression for

B C DY=em(2 3,378, 921K 1,13,
14, 15) + d (2, 4) using k-map. Realize the
expression using 2-input NAND gatesonly. - 6

Unit-II

- Construct a 4-input multiplexer using four 3-input

AND gates, an OR gate and three inverters. Show
the input, output and select lines and write a table

showing the outputs for various select inputs. 8

Design a combinational circuit that accepts a
3-bit number as input and generates an output
binary number equal to square of the input

number.: s
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